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te: (i) There are in all 30 questions in this question paper. All questions are compulsory.

4T 3.0
T DI

m. If (if) Marks allocated to every question are indicated against it.

) - (iii) Question No. 1 is multiple choice type question. Question Nos. 2 to 6 are of one mark each.

Question Nos. 7 to 15 are of two marks each. Question Nos. 16 to 24 are of three marks
each. Question Nos. 25 to 30 are of four marks each.
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= r options are given in each part of question. Write the correct answer in your answer book —

(@) T TR BT IS G & —

The chemical formula of lime stone is —

(i) CaCO, (i) CaO (iii) Ca(OH) (iv) Ca(OH),

@ o1 faer et forens &1 offel &R <1 B, 9T pH |Waa: a1 89T —
A solution turns blue litmus red, its pH is likely to be —
(i) 1 (i) 8 (iii) 9 (iv) 10

1) Gy # Wger B Bl § —
The function of Xylem in plants is —

(i) Tl &7 T8 (i) WIS @7 a8
Transport of water Transport of food
(iiil) 3T 3rt @7 a8A (iv) RIS BT I8
Transport of amino acid Transport of oxygen
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@) faga a1 S B A gl @y FEd & -
The device used for generating electric current is called —
() wifa= (i) ey (iii) THRR (iv) AR

Generator Galvanometer Ammeter Motor

(8) faxit STet o & Brovw g 50 A9 T 3 arwar T BN —
The focal length of a convex lens is 50 cm. What will be its power —
i 1D (i) 2D (iii)) 5D (iv)1.5D
(@) Prfara & /B Sta—ws sl T BT SR T8 & -
Which of the following is not an exampie of a biomass energy source —
() - THS (i) TR A (iil) ST St (iv) BRI
Wood Gobar gas Nuclear energy Coal

)

S U1 BT T T Fobel fRad St wreg a1 W g9 aravenr § ardy ol 2

Write the name and symbol of the metal that exists in liquid state in normal temperature.

3. Uil qen SHafeft gr &1 ye—va SereRer iy |

Write one example each of unisexual and bisexual flower.

4 1V PR & o1 fvgall & 4 1 Comer & & o ¥ R o e o & 2

How much work is done in moving a charge of 1 C across two points having potential difference of}

5. wa&wwmamﬁﬁﬁwmmm@faam@mwﬁﬁwwﬁn

Name the mirror that can give an enlarged and erect image of an object.

6. eﬁmﬁwa%aqma%mﬁﬁwwg@a:mwwé?

Which chemical is mainly considered responsible for the depletion of Ozone layer ?

7. 91 I IS E AT BT B S-a1 yHE SuT gargd |

Give two important uses of each washing soda and baking soda.

8. T APl B AW TSR B MR W P DR BT AT FfdT —

On the basis of nomenclature of carbon compounds, name the following compounds —

H HH H
ol I
() H—C—C—C—C—0—H (@ H—C—C=C—H
| l
H HH O H
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State two differences between artery and vein.

;o PRI BT AT f%Br Y | : 2

Draw labelled diagram of neuron.

@I Td TgHIS Sl B o ugld ¥ @ areR & 7 2

What is the difference between modes of reproduction in unicellular and multicellular organism ?

I g Wex 220 VB R W9 & 5.0 A Rieg awr okl ¥ ew gy 2 w9 STYT St
's electric motor takes 5.0 A of electric current from a 220 V line. Determine the energy consumed in

2 hours by motor.

g 5 e R T Rl e & 2 R o @ < il @ A fiRad | 2

Vhatis the principle of working of electric generator ? Name two sources of direct current.

E. 2
B Yatiel UV ERT ST AT +2 ¥ | 30 BT BT T AT § ? 2
e magnification produced by a concave mirror is +2. What is the meaning of this statement ?
A T T4 970 SfIaT BT GRETVT T BRAT AMRT ? B < BROT IR | 2
ence of 1 j},;,; should we conserve forests and wild-life ? Write any two reasons.

W s & R TR v R R — 14141 =3
e the balanced chemical equation for the following reactions —
In+AgNO, — Zn(NO,), + Ag
) Al+CuCl, —> AICL, + Cu
) BaCl, + K SO, ——> BaSO, +KCl

Hfeiec el @1 geraeTe famara (el ¥) ffkey — 1+1+1 =3
fite electronic configuration (in shells) of following elements —
) F9) (@) P(15) (M Ca(20)

U o @ TR W aTgel vd arerget ¥ Rt iRy | 3

tiate between metal and non-metal on the basis of their chemical properties.

1+1

37204GT (OR)

) §§ el BT A qATSd S g 9 51 avd RS 9ol aear & 2 1
- Name the substance which on treatment with chlorine yields bleaching powder.

pL) [3] [P.T.0.
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(@) SwauHt TS @ B & ? a1 SWHHT SadTsS] & 9eTeRyl Jf |

What are amphoteric oxides ? Give two examples of amphoteric oxides.

19. WW%%&@WWWWH@TWWWW|

Mention three main parts of Human Brain and give the function of each.

20, A R i fewlt fafed — v
Write short notes on following —
(®) o (@) Pife gaeH
Budding Vegetative propagation

21. (#) uey BMMA T 8 ?

What are plant hormones ?

(@) el # RIS T S BT § 7

How does chemical co-ordination take place in animals ?

22, er aiRuer # s B — 15 1%
% For the given circuit diagram, calculate — R
| (@) aRwr H1 el gRY 34
‘ Total resistance of the circuit 1 30Q
: ) gRuer # yarfed o g
() Total current flowing in the circuit -—34(;{ '\-7-—-(.

23. (@) /9 WO gHTe @t fHRer R few | o § @ 38 i 9§ R 8 omd
fefay |

When a white ray of light passes through a prism, it is dispersed in seven colours. Writed

& reason.
(@) e @ v g veam gt wdd gar g ?
Why does the sun appear reddish in the early morning ?
‘ 34T (OR)
(@) = D GHEA gHAT ¥ FT AU © 7

What is meant by power of accommodation of the eye ?
;? (@) et wrg @ 8 ?
i What is Tyndall effect ?
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Vhat do you mean by conventional sources of energy ? Clarify.

¥

312041 (OR)

W AT TGS € ? 39D T gedhl B gl By |

hat do you mean by Ecosystem ? Describe its major components.

[ &% T BT (Hael IS BRI SRR — 1+1+1+1 =4
ow will you obtain (Give chemical equation only) — '

p) WS ¥ QD T (é) QIRIS® o 3§ TN

| - Ethanoic acid from Ethanol ' Ester from Ethanoic acid

1) Qorifer & geft - (@) TRX W v

 Bthene from Ethanol Ethanol from Ester

et TRl 7 Heelw B aad ARl # et Y gawen @ g S| 4

are the arrangement of elements in Mendeleev’s periodic table and the Modern periodic table.

: 34T (OR)

F) TeE & orea Fr o e @ § 7 2
| = What are the limitations of Newland’s Law of Octaves ?
e St S 18(@) T woh @ vl 3 it e aad ¥ R T @R 75

EClanfy the difference between group and period in reference to periodic table.
s. Write do ‘ _ : : .

: T IR 37 for are sad o o arel Frafefaa sraardt afrd! @ wefifa S1R[ - 4
aw a diagram of human body and label following endocrine glands in it —
- agufr - (i) srTI™
Thyroxd gland - Pancreas

(iv) oSrrgas Tfer

-Adrenal gland
32T (OR) -
09 @l 3rfed dre BT Wes o R s frEfaiad it @) guited —

Waneat and clean diagram of longitudinal section of a flower and label following parts in it —

gfdfepr (i) evSEE

Style Ovary

f (iv) S=Ed

 Stamen ' Calyx

[5] [P.T.O.




28. fa=[a Aiex &1 e s it | g9 g aen SrRifdfd we $ifg |

Draw the labelled diagram of an electric motor. Explain its principle and working.
31441 (OR)
(@) faga aRuell Jor |IfEE! § AT SUANT B Tl &1 gReT Surdl & WM ol

Name two safety measures commonly used in electric circuits and appliances.

(@) gf¥em B IR vaRT P g IR B fdl eI & gRT SR B AR faf
T & A R g B ?
A positively charged particle projected towards west is deflected towards north by 3
field. What will be the direction of magnetic field ?

29. fH0 STl o @l Bibd X1 15991 2 | faw &1 o 9 fvae ot R < 5 399 &
o 9 109 ) R gfafdw g9 ? ufafd @ gafd, eR den sraeH snd B |
A concave lens has focal length of 15 cm. At what distance should the object from the lens b

that it forms an image at 10 cm from the lens ? Find the nature, size and magnification of i

30. ER FHHX BT GO ARG SR TAT AR FIX & SUANT & oM, I qr il 3
DI |

Give structural diagram of solar cooker and mention the advantages, disadvantages and limi
using a solar cooker.

ook ok ok o ok ook ok
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